AXHREHRL  HENUTTERUFEN  BFHEHNREAXMHFEREE GG

K& -
By &% H ZENAEMEEREBEXH
1. ZEQFAEMEEROH

BB [ AR SR 28 5 7 ot 2 ) A i R 6 R Y SC R 2 CHL v L 4)

(@)

(b)

(©)

ECE SESGIETE S

ARSCAE R 8% U (35 5 e — FBCE R — CAT B AR 28 7] S5 Y At OB — 1B R & A2
— R A E R A 5 K

AR SO BiE Bk DY 35 2 K — BB R — A — 10, F5[R] 7 & | — i ot 14 35 g ]

_{z‘i
= =

2. BEXH

AN SR AE A SO B A 14 (B IR H) NI IE F S R AR B g - R
COl A BV A SRS (M hk A A U P R R AR 35 1 BRI OK I 1548 1509%) 1Y SR R
ﬁﬁ%-

(a)

(b)

(c)

(d)

(e)

()

(g)

AL 7 R R A B A

K g R T MR I T = H R AR AR R
T NESH =+ IR JUE A B st il - DL TR 8 38 K 5 R385 0T i R
A8 A% [ 2 | 5 R A o A S I RO AS ST B B — A~ B 8k — B B 8%

)

| l

ApFEBE-F-IFE+ A=+ —HIEmEEEAERE - F - AREL]=1TH
1 JUAR A 09 58 3 R B 5 I 5 R

R 3 R R 9 A T S T A A A [ T U T M AN AR B SE R A B TR
B

P 2 30k 1A Jl ) 288 30 72 S5 P (78 %) AT RIS B B0 & 0 0 7S ST BT 8 1 9 2 B
08wk T 0 B AE R R

b = 22 Rk

ARSCAE R 8% U (35 5 e — FBCE R — CAT B AR 28 7 305 Y HAt 0B — 1. R & A2
— R R A A

N v



AXHREHRL  HENUTTERUFEN  BFHEHNREAXMHFEREE GG

Ff & A ZAELPATMEERRBEBE XH
(h) A SO B 8% DU T35 5 e — BB R — FH A &R — 10 8 K [a] 2 2 | — i r ke (1) 3 1 [R]
BE

(i) A BT FHAT SR IRES & 8 M BRAER 5

() LA 5% 1 SR T 3 1% A ) R AT R 5 A [ 5 1S RO ) TS T RO B R RN 10 R
AI\%: °

_V-2_



